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Subject Technician Grade Il (Electrician)

Section : Domain Knowledge

Q.1 e R VR &R & famfor & g &, faeai Q@ ! BIgHR, TThT STHR
TITE & Uk ! SATA &l

Ans  off 1 afragen (zigzag-open)
#< 2.9 (closed)
X 3. g et (wide-open)
7 4. 9rga (semiclosed)

Question ID : 54062615695
Status : Answered
Chosen Option : 3

Q.2 fo=d & FI=-91 G DC (i+t) At wr&k =i 82
Ans  off 1 srrEc-sit-aTE wIR

X 2. 23fée @&k

/X 3.4t w&

X 4. 3qfe @R

Question ID : 54062615674
Status : Answered
Chosen Option : 1

Q.3 50 ohm @7 g[5 ufeRte, 100 ATFRIGRS (microfarad) Y enfyar & @y Soft o A g1 gg Soft
HAYSTH 100-V, 50-Hz &t 3mgfed @ Siter sirar @1 ufaRiees & aiwst &Y mor-n Rifsial

Ans X' 1.62.58V

X 2.786V
X 3.539V
W 2842V

Question ID : 54062615641
Status : Not Answered
Chosen Option : --




Q.4 6-tter DC (Sieft) SRR Y 3md=R & 600 =TeTehl areft aa arsfEm (wave winding) &1 afe ufa
U v1ad 0.05 Wb 2 3fiR 7ifar 250 RPM @, &t S fa.ar.a. (EMF) &t mor=r &3

Ans X' 15635V

W 2375V
X 3.200V
/5 4.498V

Question ID : 54062615667
Status : Answered
Chosen Option : 2

Q.5 o= @ R9-IT Teh Ueh1R AT AR &, Forad Ueah Rex arsfan gi<ht &, uer A= gtan g, foraent
a13s (wound) Ereft =R AT giar &, HRIEER IR ST 1 |e gian g il foh ATé afhesgia g
3R g% THT R & Huh A |A 872

Ans X1 RRfEw s
W 2. oftveor wie
X 3. BWHR

X 4. qwgEdt (FHP) #iex

Question ID : 54062615686
Status : Answered
Chosen Option : 2

Q.6 ue ufRonifas (transformer) farga Seif &t & ZI Ueh AN aieest o arr i @

TR dteeeT SR UIRT TRl J Fuiafd e gl

Ans  off 1 St 1 g @ T ITY
25 2. amgfd i s R uRaffa s
X 3. Y & aet ol THA TG @R

25 4. qfd & aTomE B HE g

Question ID : 54062615647
Status : Answered
Chosen Option : 1

Q.7 fegawifast & armet 7, 9fva faar.a. (EMF) Y feam foradh Iugh Zi=r v &Y s denedt 82
Ans  off 1 wafif T e g @

X2.u€lﬁnaﬂa1‘q'gmaﬂﬁun

X 3. 3w a fFam

75 4. =i g1y & SIS a1 o

Question ID : 54062615661
Status : Answered
Chosen Option : 1




Q.8 faega SR forw Rigia R a e &2
Ans X 1. wRifET a1 aTd g e
W 2. nfsfe = @ 9Ra R ara. (EMF)
X 3. @aRa fara. (EMF)

p SRR
Question ID : 54062615660
Status : Answered
Chosen Option : 2
Q.9 U geadhrfers AteR & forg, At g fapfRa____ S Gire a1 hufert dire wR faniR glar &1
Ans o 1 ciE
X 2. e e
25 3. ARk U
X afy

Question ID : 54062615699
Status : Answered
Chosen Option : 1

Q.10 zfx ve ar Hfeae & & &, Swdr gfedesar 50 x 1078 0-m ¥, & 100 m &% 37 0.1 mm2 &
Tsh HHIA eI HIE & Al qel FH dN & FTRre S a0 S|

Ans X150
X 2.500
253050
W 4.5000

Question ID : 54062615599
Status : Not Answered
Chosen Option : --

Q.11 fam= & &, g foega A<ft arwh Fi=-<h &, S ugin S« d =TT 9 HonTaS wel & 7
enferer Tuh Y Awmura & forg forar sirar &, @fers a8 el & aea 3ma=l & wang &l 78l Ahar
-4

Ans X1 Zeflg
75 2. % saagte
W 3. dm=
X 4. o geags

Question ID : 54062615617
Status : Answered
Chosen Option : 3




Q.12 ufertiur HteR (repulsion motor) & g &, fora & & iF-91 Y= T 82
Ans X 1. 5qd quf ofte 1 & 9T 3 § 4 T HEH Yad aRT gl 21
25 2. Hiex i iy oht izt R o e @ Fraifa foha o genar 81
(3.3ﬂﬁaﬂq¥wﬁmﬁaﬁéﬁmmqé‘fg‘rﬁ%|
X 4. 5@ e 350 RISTd deh o g1 W <Ye gar &1

Question ID : 54062615687
Status : Answered
Chosen Option: 3

Q.13 ufeertfor ez, AC (Teft) RIS Aier siik R-IAfSa geaariferer Ater fohads Sargwon &2
Ans X' 1.DC (&) AR

X 2. s

W 3. Rimer Hie

X 4 SRR

Question ID : 54062615683
Status : Answered
Chosen Option: 3

_______ g =g U1 g, Fore R wget a foaeren @ ofi 39 g1 gRfgra ufuy & fifsea
R AAT & | FHRT HTH WS aed hl 11 &1 & 9ifdes ghar 31

Ans o 1 wifSi
p SVRICEICD
X 3. siferfenor ot
25 4w died

Question ID : 54062615726
Status : Answered
Chosen Option : 1

Q.15 SeRA MR G dedd, _____ 3-tht anEfET o1 agT e @ iR 39 3-thet amyfe & faega sgfed
& st 21

Ans X 1w
X 2. %
p R
W 4=

Question ID : 54062615702
Status : Answered
Chosen Option : 4




Q.16 af¥ wrufie et 7 40 qu sk fgfas e A8 qqug, A aiees _______ grar i
Ans X 1. 40 THT RS S

X 2.10 [T R 31
W 3. 5 T RE s
25 440 T RE 3

Question ID : 54062615711
Status : Answered
Chosen Option: 3

Q.17 Concentrated pole, non-compensated pole, distributed-field compensated type are
types of manufacturing methods for which of the following types of motors?

Ans ( 1. Universal motor
x 2. Squirrel cage repulsion motor
x 3. Stepper motor

x 4. Synchronous motor

Question ID : 54062615690
Status : Marked For Review
Chosen Option : 4

Q.18 aruwT= d gfeg & a1y, enfes areias &Y ufertaear I

Ans ( 1. 95

X 2. wedi g

25 3. e wu § uRafda gt @

X 4. suRafda & §

Question ID : 54062615603
Status : Answered
Chosen Option : 1
Q.19 Fewmfem A & BT, afy &7 303 (field excitation) ¥&T & £ Ep< Vv, & #Hiex &r
_ wFE AW

Ans

V' . 3eT-3cdfad (under-excited)
X 2. H#f3-3afST (over-excited)
X 3. HA-3cdfaid (un-excited)

X 4 gedl-3cataid (mild-excited)

Question ID : 54062615700
Status : Answered
Chosen Option : 1




Q.20 T fehe R §, T TR W, 311k dleest dofl & U R UgH™ STran ¢ 3R ag ue atedst 3mdh &
sqd____ Y FATY T & g Ueged gten 81

Ans X1 gty

(z.srmum—s

X 3.3k

75 4 e

Question ID : 54062615728

Status : Marked For Review

Chosen Option : 2

Q.21 Tak DC (1) 2ic TR A, 100 Q a1 2 s arsfEn ufadty 21 g 250 V & aledst R 5 kW &
= amgfe e 3er 81 afe emd=r oferty 0.22 0 8, 4t 5121 aiedst @t 0T AT gU, TR &
e fa.ar.a. (EMF) & moram 631

Ans X' 1.322.69V

W 2.255v
X 350V

X 415232V

Question ID : 54062615665

Status : Answered

Chosen Option : 2

Q.22 fpeht fafSies aedt-dier 7, AC (weft) aiwdst, DC (Sr=ft) w1, AC () ez 3tz uferter Y ugest
forelt feargw grrangea ____ # wuiafa forar sirar @ ok fRr fafSies aivedfir Y
HETadn 9 AT STt gl

Ans o 1. DC () die
X 2. iy
X 3. Rea
X 4. afr

Question ID : 54062615678

Status : Answered

Chosen Option : 1

Q.23 =i} & Qeh AR & gehs a1 ufaRter 1 Q @1 af dar o fafre afedte, aidy 6 gerar & 30 791 &,
at =Y & arR & uen-fagrs dars o vah-fagrs sary arat WA & ar o ufety foraar gim?

Ans X' 1.30
X 2.300
X 3.600
W 4900

Question ID : 54062615598

Status : Not Answered

Chosen Option : --




Q.24 g faaror yorreht &, Iei ok o™i & ergyEt i & forg aledsT Y ___ T IUTT FHch SUG<h
dieest ° Faiafd ferar ST 81

Ans  off 1 RuamT gEwiR
75 2. @R gk

7 3. R aledst g
75 4. Ru-am gamii

Question ID : 54062615708
Status : Answered
Chosen Option : 1

Q.25 230-V & gTet AT a1eAT 60-Hz ateest, 0.265 H &t arfar (capacitance) wR mfaa fepar
SiTan g1 urfar ufaEra (capacitive reactance) IiTd RifSigl

Ans  of 1 1000
X 2.2650
X 3.250
X 4.3770

Question ID : 54062615635
Status : Answered
Chosen Option : 3

________ ek fRAT IUHRT (static piece of apparatus) &, foreh areow @ gas ulkay 6
ferega 21f=% (electric power) @t, gER ufvay Y St srgf~ areft farega 2t~ A wuiafa faran
ST g1

Ans o 1 ofonfis
25 2. geafores HieR
X 3.5 RR
5 4 IR

Question ID : 54062615709
Status : Answered
Chosen Option : 1

Q.27 Uk Gfdhe SR & enfeh srafd & SR, duel & favafgagashor___ Rk
w2l

Ans o 1. s iy
X 2. argreeha esma
X 3. argrseh daoaE
75 4. argreea smgar

Question ID : 54062615733
Status : Answered
Chosen Option : 1




Q.28 4uft R-L ufy9sr &, kVA & ¥ IO FH BiHT T (active power) Fred T T &1

Ans x T
1. —
2
W2 cos @
X 3 sin @
; I
p
6
Question ID : 54062615637
Status : Answered
Chosen Option : 2
Q.29 AT T AR FHIAIY ST (ATeh) AEYH FeaTm 8, Fifh Vg ________ T TaTE gier

gl
Ans ( 1. gRT
x 2. 1<k (power)
X 3. dRw

27X 4.3y (supply)

Question ID : 54062615645
Status : Answered
Chosen Option : 1

Q.30 ¥t Y gufaar, sud dare & fog smaas R Fawfgad_______ SIYE hT ek tharH glal
gl

Ans X1 Kw
( 2. volt ampere
/X 3.K0hm
X 4.kv

Question ID : 54062615719
Status : Answered
Chosen Option : 2

Q.31 250-V, 10-kW, g2 &0 & Ieaford siRex & guf sits R afa fa.ar.a. (EMF) 255 V g1 afy
STTH=R 12T ST AfA 3127 2 V 8, it STiRex Y s o1=r <l 7orn el

Ans 5 1.20 A
X 2.30A
W 3404
X 4.10A

Question ID : 54062615666
Status : Answered
Chosen Option: 3




Q.32 U ufvuy &, Ar aiedst 100 V @ 31 10 A &Y 1 st 30° uz=en (lag) uraT Sram 81 HWew
(p.f.) &1 T T &2

Ans X" 1.0.5 ggerer
75 2.0.5 3@
X 3.0.866 Tz

W 4.0.866 s

Question ID : 54062615640
Status : Answered
Chosen Option : 3

Q.33 gfhe g & Geof 7, fa A fop Uah a1 &l Sigas, Aw it ga &2

Ans X 1. iz G IR & Areta wu @ a1 Refte dhigier & Gfdhe s ar dtgan
25 2. et e 1 R & afthe ot wrenford & @ e
o 3. Rt o R & wfife ot o w0 @ e
25 4. amr uRfRRT & gty wu @ a1 Rele digter @ gfthe s a1 dtgar

Question ID : 54062615731
Status : Answered
Chosen Option : 3

& Tu A I, urf¥a iz faafa ferar sar 21

Question ID : 54062615739
Status : Answered
Chosen Option : 2

Q35 % Fx Y F mey gfEy 7a HSw gt & @i T iw F

Ans X' 158240

X 2.7.4240

o 3.58660

X 4101250

Question ID : 54062615613
Status : Answered
Chosen Option : 3




Q.36 forelt Ater it geaaifors nfa Ns sk arwfdr MfaN dfiawr s ________ & g d ST
STeT 21

Ans X" 1. dieff (poles) & T
X 2. 5 & g R
W 3. oy

75 4. geaafores usadl

Question ID : 54062615682
Status : Answered
Chosen Option : 3

Q.37 Sia i aAafh foreft Juavor & faeita ®u @ gefta s (live part) Y wusf & g, ot Star-it
fasra (step potential) ______ gar gl

Ans X 1. g1y 3R &R & o @ v
X 2. R g fraret § & S of 7
o 3. R o ok Tt was W e W @ & & 4] & i a1 R
K 4. 519 3R g g1 & ot o e

Question ID : 54062615646
Status : Marked For Review
Chosen Option : 4

Q.38 4-uleT DC (SiH) AiR & A9 et TH=R arsfE @1 ufdy uiet veiera 30 mWb &1 3mi=R =retehl
&Y ST 250 1230 V Fi St sgfd @ 512 g1 W, g 40A Fir =R un=r SAar 81 0.6 3419 @
=R uferty 717 &A= faRief fa.ar.a. (back EMF) &Y o1 <R3

Ans  of 1 206V
X 2.222v
X 3.220V
5 4212V

Question ID : 54062615670
Status : Answered
Chosen Option : 1

Q-39 100 V ot ¥k @ g v @ Il umn W AfSw weh gfay e A E

2

V- Y

100V
el
1]t

Ans X' 1.50A

X 2.9.09A
/X 3.5.56 A
W 220

Question ID : 54062615610
Status : Answered
Chosen Option : 4




Q40 srdsvRs Sh P T MR AN L e aE s W R AR W wEd e
s X1 grEEeTeT; HaS0,

v 2 gIEEIE, HedET

X 3. 3T, PbSOy

X 4 PbSO,; HyS0,

Question ID : 54062615621
Status : Answered
Chosen Option : 2

Q.41 50-yF Heurfer (capacitor) @t 230-V, 50-Hz &t Sgfd & SISt ST &1 STaaw U1RT &1 J17 A1
Hifsrgi

Ans X' 1.63.6A
25114
X 3.636A
X 4.362A

Question ID : 54062615633
Status : Not Answered
Chosen Option : --

Q.42 150V rms &7 50 Hz aTeIT UedTae aleest ek 0.2 henry aret IRercd (inductance) &t W &4
@ uer= forar maT| areerfores enRn & forg egstes fAufia &3

Ans X' 1 |=7.07 sin(100mt)
25 2.1=7.06 sin(100m)
X 3.1=21.213 sin(314t)

o 4.1=3.37sin(100mt - 1. 2) A

Question ID : 54062615676
Status : Answered
Chosen Option : 3

Q.43 gfhe g d, areh & uferty &1, fo= fafoat & @ fora uas ol Stsaw, A 9ot & g1 Ferar s
Tehel 87

Ans X 1. 3ich Y ST ST
W 2. o o @ A
/X 3. 31mch Y G AT
X 4. 311 & X-qaRT ) hE AT

Question ID : 54062615730
Status : Answered
Chosen Option : 3




Q.44 wwrdsfte figia & srgeR, AC #iedl &l
Hehall 81

Ans X1 fRmfa
v 28w
X 3.5

/X 4 vfdeRa

! Sigar Aw Tt ergu A faanfSra farar s

Question ID : 54062615701
Status : Answered
Chosen Option : 3

Q.45 WA=-ufdrs de&t Y Wh garar fopertt i<t &2
Ans X" 1,359 40 wfaRe

W 2. 72380 vfm
X 3.80 @90 wfaza
75 4.90 9 95 ufizE

Question ID : 54062615620
Status : Answered
Chosen Option : 3

Ans X' 1,237V

W 2208V
X 3.220V
X 4.232v

Q.46 220-V DC (&) Ater d =R ufaRier 0.5 3 21 ag Uah fAffq «ite & =nferd & & forg
20 A Y TR oRT AT @1 afE wergia 2 V @, @t M | ofka faan. . (EMF) faraam girm?

Question ID : 54062615669
Status : Answered
Chosen Option : 2

9 SR g &l

Q.47 AeEAR VR hIR & fAAfor & ey d fa d @ pi9-91 9= Ted 87
Ans X 1 R AW YehEER A Egeie 81a & ok I Hem @ fefer arg R oRA 37 & forg Ik

o 2. smifeR Ao & v 3 wite, FR Y argy TR & g R 2 #
25 3. SeR ATerehl & TITOA &g Tife, R I AdRen R & a1y fd 81 &1
X 4. HaR aRIST & R 81 ATl g1 &t Feflepd @A & forg ik et effiae faha e 21

Question ID : 54062615694
Status : Answered
Chosen Option : 2




Q.48 _______ fareror gomreft @Rt (i) srufAes faaror gorreft oz (i) ATeafies faaror yorreht & wa d
affepa foraT siTa 1

Ans X 1. f@R (static)
W 2. AC ()
X 3. fde (dynamic)
75 4.DC ()

Question ID : 54062615740
Status : Answered
Chosen Option : 2

Q.49 e fas (Wheat stone bridge) &t =1z yeimaif & uferter s9 wer & : AB = 100, BC = 10,
CD = 4, DA = 50 3iiH1 BD & #d Qeh 20 3H1H UfeRIe &l fied-iHIex 21 81 afE AC haem 10 v
1 fyaiar =T gon 8, @t Aedmtier @ giens wanfea g1 areft urr &1 w73 sira hifSrg)

Ans X' 1.005A

X 2.05A
W 351mA
X 45A

Question ID : 54062615614
Status : Not Answered
Chosen Option : --

Q.50 3w ar % wfeRry & TUET HfST, FEH F@F 200 m B, FEH FIES FE F OHAAS ST
0.01mm? ¥ 3t fSrmdr gfatear 60 po-cm B

Ans X 1.12%x 1072 kQ
X 2. 6000 ko
X 3120 kQ
v 12 kQ

Question ID : 54062615607
Status : Not Answered
Chosen Option : --

W 2. Rftre oy

X 3. Regd v
X 4. ufy

Question ID : 54062615602
Status : Answered
Chosen Option : 2




_______ # aiwest & g W A gian 8, o ur sifer Suvitr @z @t faaRa faega =i @
I HT 2l

Ans X 1. grefiies fraRor gormedt
75 2. e Rraror worreht
X 3. T fraRor ot

W 4. fedrr frazor yomeht

Question ID : 54062615741
Status : Answered
Chosen Option : 4

Q.53 3ecAR & famfor & dgof &, TR arEfén (damper windings), srigiera st Y fRAfa & aga
dgfea______ 91q 7@ & weraes il 81

Ans  of 1 3t
X 2.awm
X 3. 7ampf (torque)
R

Question ID : 54062615696
Status : Answered
Chosen Option : 3

Q.54 uTedt e & o1 fATT I TTed =T & guaTafS & 39 iy A §, Wit fF ag@ g

gepT gle &, 51a Ut fiss wesf i g fRfer & geme ordt gt @1
Ans X' 1w
X 2. smf
X 3. e (uew)
W 4 &

Question ID : 54062615629
Status : Answered
Chosen Option : 2

Q55 W&k ______ H AR hgaeR ol T A & foIg, GHTAIGR @il areft Teh S ThR Af3Aes fiR
gielt &, St afen gegHif~as ar fAsr argsit f s 52 gt &1 39 @il 4 8l 9 o #i ufawe
& & FoITY, Udlh @i A Yeh B8 W& ST 8, 519 1Y &g @il ah1 Suaiw famar sirar g1

Ans X 1. wR AR (star rotor)
( 2. TaTEId el AeR (squirrel cage rotor)
X 3. 2w (delta rotor)
x 4. f&ra a1 A= (slip ring rotor)

Question ID : 54062615681
Status : Answered
Chosen Option : 2




Q.56 gg-RF A faRur &k forg__
Ans x 1. TRl (stationary)

W 2.0C

x 3. fdek (dynamic)

31ryfe (i) 2-araR ar (i) faeror & forg 3-ar1

X 4.AC
Question ID : 54062615743
Status : Answered
Chosen Option : 4
Q.57 _________ At Fft off famm s & T 78 giar 81

Ans X 1. AC (&) Rur
X 2.DC (e it gie
W 3.DC @) Rt
X 4.DC () 2ie

Question ID : 54062615673
Status : Answered
Chosen Option: 3

Q.58 WI9 It ueh argg ufvay A fewarst gt @ g 8, aa 5w sataeis &l sataei-il &1 vang gidn 8, 98
_____ g gl

Ans X1 &efle
/X 2. 32Rf seagts (neutral electrode)
X 3. %0 gaags
W 4 e

Question ID : 54062615616
Status : Answered
Chosen Option : 1

_______ A1 39 3rufaddf (DC) urwr & Zi3r fafée ferar sirar &, o fansdt feg
¢ ufgy & fau 10 aua & forg venfad 8= wR Ia- & AT IO hedn @, A uearad s
I ufRgy 7 It gaarafa & forg yarfga 813 = Sa= &=l 81

Ans  of 1 RS
75 2. uxaadt
75 3. madt
X 4. shga

Question ID : 54062615631
Status : Answered
Chosen Option : 4




Q.60 FReiTI Rt ZIRT 31U+ Shrat et HaluSTeh &1 & et & forg, 3ud A& ____ i
Bz, Aw ot qurent smavae ga &

Ans ( 1. SIféetaT (complexity)
75 2. Rggeiaan (reliability)
X 3. fohwRraet (economy)

x 4. IR (sensitivity)
Question ID : 54062615721
Status : Answered
Chosen Option : 1
Q.61 foreht cigmiiRAr dgafa_______ ehSTeh ZIXT AT i SITell &1

Ans X 1 e Bl = RRRa g/ e arr gy
W 2 o = RRRE e + v arT IfY
75 3. el a = RRRY g x v arT @
/X 4. el = RRRu el - s arr e

Question ID : 54062615713
Status : Answered
Chosen Option : 2

Q.62 geaaiferss At & forg, geaarforar nfer _____ LRSI K|
Ans X 1. N~ 180 f/P

X 2. N=360f/P
X 3 N=601/P
v 4 N=120f/P

Question ID : 54062615698
Status : Answered
Chosen Option : 4




Q63 A ailr G F TeT It A9 AV oA S mh A=A Aw A T

|10V ) 7 G
1]

Ans
Question ID : 54062615611
Status : Not Answered
Chosen Option : --

Q.64 _______ 3NfEAT eraw & Stere afdhe few & duaf w s ar 21
Ans X' 1 e dles

W 2. snfdm s

75 3. -y dees

X 4. -3 Al

Question ID : 54062615729
Status : Answered
Chosen Option : 2

Q.65 fom & & fore wertR Y Sraif o1 U, S eafEl @g WTa & Iare o forg fapar siren 8, s foe
e Sl Tt 87

Ans X 1. SeiferEd
X 2. uea F
o 3. ardi (Thermal)
p SRR

Question ID : 54062615734
Status : Answered
Chosen Option : 3

Q.66 faaRor yurreft & arfferzor hY ara &, &t fr J @ foF ger ot Sz, AW It IEEi )
3murfa ghar 21

Ans X" 1. Rmfor & deR
W 2. sitazds omeh i Y
X 3. R el
X 4. FeeH G e

Question ID : 54062615738
Status : Answered
Chosen Option : 1




Q.67 ufvonfa= (transformer) # faegarieht g &1a (insulat ed windings wound) for R gta &2
Ans x 1. BR-aTeThT B (ferro-conductive core)

X 2. IR gadra &R (non-magnetic core)

x 3. g dlg &I &R (soft iron core)

“ 4. BR-ARfEeR R (ferro-magnetic core)

Question ID : 54062615648
Status : Answered
Chosen Option : 4

Q.68 3M1aRES T3 ATeTehl o forg, fafd==1 uerz & dter 3R efeR aret fasmer Sx==rd
gl

Ans X1 ERwr
75 2.t e
W 3. e
75 4 dhgargmé

_______ FHEeTelt

Question ID : 54062615715
Status : Answered
Chosen Option : 3

Q.69 foreft s wieR & forg
|

Ans X 1. sk TR
X 2. f&m
75 3. ey o

f 4w

ufel Rex dlet Uererd 3R AR 1T & JUT-Tthel & THTIATAT ghar

Question ID : 54062615707
Status : Answered
Chosen Option : 4

Q.70 fmdad_______ = Brzay, A Tt @139 & SR ARl wu @ sitags sl 7 uged gia
gl

Ans X 1. foe-ergy
W 2 e
/X 3. gedzFergy
X 4. gy

Question ID : 54062615716
Status : Answered
Chosen Option : 2




________ # ufertuehar gl &, St Sgiedl & A Stz aretent @ o1fds gt 81
Ans X 1. g Tl

X 2. garh ggee

X 3. il Sgaedt

o 4 sfareE

Question ID : 54062615664
Status : Answered
Chosen Option : 4

Question ID : 54062615653
Status : Answered
Chosen Option : 2

Q.73 fom & & Sl=-91 Wy Al a1 smazas qoreH T 82

Ans x 1. fa=ar & =g 7uTieR (Small co-efficient of expansion)
( 2. fa%ar & 3= 7uTies (High co-efficient of expansion)
75 3. ga1 & SR 81 W @RS e g ARy
X 4. T ®  Sifadieor @ g5

Question ID : 54062615727
Status : Answered
Chosen Option : 2

Q.74 =¥, FHIRET aUT TR | f=1 ufer aeh (low power work) agarafmafarg___ Cal
ot feRar ST g1

Ans  of 1 ifefTed FeiRES FEe
X 2. IS TR SYALS e
X 3. 25w o1z ates vt
75 4. T R oftes e

Question ID : 54062615644
Status : Answered
Chosen Option : 1




Q.75 Uk ufRonfAs (transformer) & seRr ey grfy______ & ETgUTe gt g1
Ans 1 \2

X2 §2

X 3 No2

X 4. N¢2

Question ID : 54062615650
Status : Answered
Chosen Option : 2

Q.76 FSIf &Y Qe FehTS o Ieare hl 17T, Jeare <t fafdr afiz
Ans x 1. SFRETOT AG

X 2. o e

75 3.3uai

W 4. oo e By

&t & R ARk et @1

Question ID : 54062615735
Status : Answered
Chosen Option : 3

Q.77 wa1 anf¥an ofiR aiwedst srgura & forg, famsdt sifet giwwieR (auto transformer) & forg
STk did T WIR, 2-arsfET giamiER 1

Ans X1 Fa & R AT
X 2. B e e g g
X 3 FRREAE
W & SgemdFagard

Question ID : 54062615655
Status : Answered
Chosen Option : 4

78 afer J(RZ+X2) Fr afwy & F T H FT AT 2
Ans X' 1 gfrEma

x 2. 3feRaaT (susceptance)

/< 3. ufady

o 4 ofvan

Question ID : 54062615636
Status : Answered
Chosen Option : 4




Q.79 Uk ATEAH | 7@ &t gechId gl h AT R aA, ______
Ans  off 1. e e B ot 3 nf & cgmRTTTE g &
25 2. 37 wen &) gt & et o GEruTe g @
25 3. 3% ga Ty & a1 & cgehHuTdl g §
X 4. 3% yd ey & avf & qEuTd g

Question ID : 54062615624
Status : Answered
Chosen Option : 1

Q.80 T 4-Ule, AU a1ds arat i+t sTRex d ufer uler 0.06 Wh @1 Szttt weraT @1 519 ag o il
IATE (prime mover) &Y A% & 500 RPM &t nifer & gwTar sirar &, &t 3= fa.ar.a. (EMF)

Y TMOTAT 31 ITHER F 200 AT |
Ans X' 1.13862V

X 2.462V
W 3100V

X 4.166.67V

Question ID : 54062615663
Status : Answered
Chosen Option : 3

Q.81 = & @ RI9-TT Uah UehIR bl AR &, forad smrasaes %ot f&efém (phase splitting) SRoT Z1=1
fafia ferar rar @ ofik SUH Rex WR & drselt ya SR Yeh FraTsRet ol HehTR T AR ghar 82

Ans X 1 ggEd (FHP) #ieR
7< 2. ufyemor siex
W 3. 92 ot Rier-drt AR
X 4 BwRHAR

Question ID : 54062615685
Status : Answered
Chosen Option : 1

Q.82 wyfSiT e | 3R aR & =19 d & &= o1 day

o<k gt ST 21
Ans o1 1= ka3/?
k
X2%= d3/2
k
Xel= d1/2
X4 1= kd??

&, fored k ues feawier @ o wgfSiT

Question ID : 54062615725
Status : Answered
Chosen Option : 1




_________ Qo Q9T e 8, forad fRRfaes daes ueref & 9% der ot gla &, oY uferteaaran
T SR & T glelt &1 ulRunATasy, 39 @R & AieR # WeR urvid R AT v g,
aforg &S Wear a1z g1fy ) gt 8, &i, fifers dhaw fRRRTa gy & gdt 21

Ans  off 1 RefuE e
X 2. BwAR
X 3. qeahIfers #ie
x 4. TFATERE hol TRy oT FYex (Squirrel cage repulsion motor)

Question ID : 54062615689
Status : Answered
Chosen Option : 1

Q.84 20 pF Y enfar arer ges denf¥a, 100-V, 50-Hz &Y srgfd & 120 Q & R-URot uferie (non-
inductive resistance) & ary Sioft s & SgeT gorm &1 2k (power) &Y o HIfSQI

Ans X' 1.63.45W

W 2.3020w

/X 3.1058 W
X 4.5862W
Question ID : 54062615642
Status : Not Answered
Chosen Option : --
Q.85 311\ (Ohm) & s & IR, V siR | S am @k waier, ____ R AT 8 gte 8l
Ans X' 1 q7d & arereR
W 2. d=erE
25 3. < & Arerent
X 4. s Rer
Question ID : 54062615606
Status : Answered
Chosen Option : 2
Q.86 DC (Si+ft) wzfivi & dgvf &, AuadifEn F s awaiRuu gla g s R, _______ o 31f R
g et 81

Ans X 1. 3=-UR], IEatedst DC AT
X 2. Fre-urr, Free-aieest DC #=fat
X 3. P, geaieest DC wefiat
( 4. 394, A=-aiedst DC A=Y

Question ID : 54062615714
Status : Answered
Chosen Option : 4




Q.87 sifderier et o fore 3t g el W e et 82

Ans  off 1 Rem-aradhi smamfor ofRk Rig-gradhn SRor
X 2. feg-grachi Seom ik Regd grarchi Skor
X 3. Riega-ged s 3R faga-qrdhia 3 (electromagnetic infusion)
X 4. R o oik frem-gradha Rkor

Question ID : 54062615718
Status : Answered
Chosen Option : 1

Q.88 Tk AC (TE) AR &, Aex ot 3+t avg & forega 21f=% (elect ric power) ww =18t g+t & S+t ok 2-
argfE gk & fgdtaes ot wrufies @ oafh v gt @1 adl wror @ 6 39 @_g & e &t
& ATH | ST ST 81

X 4.DC () szt Hex

Question ID : 54062615680
Status : Answered
Chosen Option : 3

Q.89 F=aRM AR & TeH &, Teh-gaR @ 90 W it wr vunfia &t war= ardfdn aram 2-vie Rex
ot TefHa et g1

X 2.DC (Ireh) amgfd
25 3. 3Ot g
75 4. 1-%t amgfd

Question ID : 54062615703
Status : Answered
Chosen Option : 1

Q.90 Tt thel gsavM MR & e A, A d @ hl=-91 FU9 T &2
Ans  off 1 R e wiver Ao wIfE gar

X 2. @ Hiex ReiRa () 7 & fe-ders den ugaar g, a9 R Adkfien @ik asfén &t
fEriae W AT &

25 3. et thet Hiex deth i ¢ g @
75 4. Rrorh ot Hlex Ueh fRiTer St HieR €T &

Question ID : 54062615684
Status : Answered
Chosen Option : 1




Q.91 fa= faereal 7 @, AC (TElY) STReR iR DC () STvRex & fi= 3R a1 Ta1 3|

Ans ( 1. DC (SRM) SR #, SR godT & 3R &3 gurrel f@R gt &; AC (THl) e & forg,
fregpet 39 faudia glar &

25 2. AC (qh) SRer B, e gHaT & 3R &t Tl fRR gt & DC (i) siier & g,
fareepet g9 Ao gtar &

/X 3.DC () SRR F, S R T8 g @
25 4.DC () SRR ¥, gaehig &5 A U § Hiefe g1 @

Question ID : 54062615693
Status : Answered
Chosen Option : 1

Q.92 foreht fafare wits & forg sigwiHR & ateear fg=or (Voltage regulation) @ht, 3 wits aiwest
% ufezra & wU H caaa frg s aret s sz A e ats s __ wu d gianfya
feraT StTaT 21

Ans X 1. fdoe ur & uRada
25 2. wrufdies a1 & uRada
o 3. i diede & uRad
X 4. raftv dieds  uRadT

Question ID : 54062615651
Status : Answered
Chosen Option : 4

Tt ATAT ag gieht &, ST 3 ATAn Y et arg F S ITaad at g

Ans x 1. FIfeEAT (cosine)
x 2. SgTashid (sinusoidal)

( 3. ugadt (lagging)
x 4. aadT (leading)

Question ID : 54062615630
Status : Answered
Chosen Option : 3

Q.94 &= ufdE 3@ A frwafSi & e, se & Pmfu s wror___ |
Ans X 1 dch & iRt o 7 g A

75 2. 38 9 1 o &R TG &

X 3. 7 Skt & aTeR AT &

W 4 3 & Rt TR § @ ot &

Question ID : 54062615618
Status : Answered
Chosen Option : 4




Q.95 Uk GHhIfoeh AR & e d f d @ pi9-91 Y= Teid 82

Ans X 1. gg 1Tk TUTeRI Bl Ueh fRd el & dgd Fierd B A @erE B
X 2. 75 T w0 & w@d aRef (Yt i) T gar &
25 3. g THhIerh TR & werel 81
W 4. 75 ARy RE R 7@

Question ID : 54062615697
Status : Answered
Chosen Option : 4

Q.96 A R &t @R A@___ & Bz, AW Tt & forg ot =<t 8 ek, ghogef
i (faulty section) @l faseraere & &1 =fgwl

Ans  off 1 foren ) Rrcerdr a0t e & g, S el ST A & g
X 2. TR # AR B & AR & g
75 3. g Sueo i el 81 @ sum & g
X 4. 7 iR @ e & g, e sRoT I e 7 8 v &

Question ID : 54062615722
Status : Answered
Chosen Option : 2

Q.97 =AM Al & H@e i A, 3-het §sarM AlR & Wer | ufar et ufer i 3 wre gl &1 afy smyfd
&Y amgfa 50 Hz &, &t fAfda i i dwear ok Rer R wite Y et dwar &Y morr &3

Ans X 1. Oier &1 Tea = 6 3R Rex W &ile & gt Te = 50
25 2. Uiel &l T = 4 3R Rer R il i ghed T = 50
X 3. Uiet &l TR = 4 3R Rer R ile i el G = 54
W 4. e & T = 6 ok Rer R wife 61 gt T = 54

Question ID : 54062615705
Status : Not Answered
Chosen Option : --

Q.98 50 Hz &t amrgfx art uearast en=r @1 enfyar ufeena (capacitive reactance) 10 Q &1 afy
STgf aIgT &R 100 Hz &= &t w11g, ot enfvar ufeema _____ 31| gt S|

Ans &7 1.25
X 2.50
5 310
s

Question ID : 54062615634
Status : Answered
Chosen Option : 4




Q.99 dg "R, St ufaertfor 3fiR Rt UerT=l 1 Ueh TSt gl g, foraw ufaerdfor Mier A aisia
fatward iz ger URoT AR & Ry fd ot faivard gt & 3@ aar svgT sitar @2

Ans o 1. waTsRer e HfEoT AR (squirrel cage repulsion motor)
75 2. sigeaeitees Mex
X 3. qeadhifer Hiek
X 4 Refwg e

Question ID : 54062615688
Status : Answered
Chosen Option : 2

Q.100 1-tz ufronfa= (transformer) & 400 wrufd 3T 1000 efadms o= &1 #R F g HIEEA-FT &
8 % 60 cm? §| afy wrufEs gsee 500 V 9T 50-Hz #r Fafd & T, O gfacias gwa
(amEfEe) # ofg deesr 7 ST

Ans  off 1 1250V

X 2.1225V
X 3.1320V
X 41320V

Question ID : 54062615649
Status : Answered
Chosen Option : 1

Q.101 gz sfere AR = STeca are v Avf iy #, o it Seee # e TR @ s e e E

i () =5sin (314t = 27) s
v (1) = 15 sin (314 t + 55%)

after Fr gfF=mer (impedance) F FfAT)
Ans &K 1.4780

X 2.3250

W 330

X 4.260

Question ID : 54062615638
Status : Answered
Chosen Option : 4
Q.102 gaehra &= # foredt off foig R dachra @ oA, figwmsd@ge_______ & THATHEG 9 @ RIR
gar gl

Ans X 1. ge URRITR ATl N-ga BT ORT
X 2. Ue TR aret N-gga & ateest
x 3. e gie aret N-gd <l 21fch (power)
J4.'qa?€ra?a1€r N-ga TR & aTet o

Question ID : 54062615625
Status : Answered
Chosen Option : 1




Q.103 7ifew Feif = faega st A ufvafda we aret faega a2ft= =t a1 wg1 sar 82
Ans X 1. gafee afthe Saw

X 2. Rega AR
X 3. el arefie
W 4 Reg
Question ID : 54062615658
Status : Answered
Chosen Option : 4
Q.104 WSt & HeH d, e yameT om@afd ___ o g1 €t Sl g1

Ans  off 1 di-onfif arem + anfid erem
X 2. g vraTer 1t — anfeh ergn
2< 3. sh-onfebr et - arfef ergm
X 4. g vraTer et - afe ergm

Question ID : 54062615723
Status : Answered
Chosen Option : 2

Q.105 famfor & srgemR, Sfte-wIR (spiral-core) AT AI¥s-HIX (Wound-core) 3T EIATIAR &t
& A1 & oft ST e g1

Ans ( . TATSRIHR 22U ZIIHIFR
X 2. WigdeR gRwhR
X 3. TR 23U SHER

X 4. QAR graER

Question ID : 54062615710
Status : Answered
Chosen Option : 2

Q.106 el | v g1 arelt faregaRieft wrafiai Y q=a smavaswar war gidt 8?2
Ans X 1. fre fRegadier e

X 2. 3ea Riegadiem vl

W 3. 5= Rgade ofdy

75 4. P Rigeem ok

Question ID : 54062615643
Status : Answered
Chosen Option : 3




Q.107 gfvasia #ie, St Suatn @Ta sik 9 R | forar sirar &, # &8 afeai gt &1 ofer ==,
MR & Wi Qa9 9 fora &1 & g1 forar sirar 2

Ans X 1. gty fafd (Resistance method)
x 2. &t thies fafdr (Tapping field method)
X 3. e fafdr (Capacitance method)
“ 4. $=Tu9Re a7 (Centrifugal mechanism)

Question ID : 54062615692
Status : Answered
Chosen Option : 2

Q.108 forft ugref = ag 1urer T wgear 8, et FvoT g Wd @ g varfad g areft e
foRte shvar @2

Ans  of 1 ufe
X 2. IRev
/X 3. =T (conductance)
X 4. v

Question ID : 54062615596
Status : Answered
Chosen Option : 1

Q.109 f=1 & & foFd Qeh oht Bz, AW Gt fora=or yorrell & smasyger ek &1
Ans o 1 wffuisa

X 2. affaag

x 3. faawe (distributors)

X 4 h=R

Question ID : 54062615737
Status : Answered
Chosen Option : 1

Q.110 ferega ufeRer en=r & vang &t
Ans X" 1. 3iredor (attraction)

x 2. dTefehed (conductance)
“ 3. fa_ier (opposition)
p R

Question ID : 54062615601
Status : Answered
Chosen Option : 3




Q.111 240 V DC 2ie AteR Fel 15 A Y <31 A1 g1 2ie e arsfEm ar uferier 150 ohm @ iz sm=R
T UferRIer 0.2 ohm 21 =R o foRart 87

Ans X 1.5822A

W 2134
X 3.3.14A
/5 4.100 A

Question ID : 54062615632
Status : Answered
Chosen Option : 2

QM2 gL @ g a1 &1 el oarT A1 s INoy F g3 FEeF & 77 20 Q

Ay Ay

—— 100V RL

[

Ans 3" 1.2.667 A

X 21A
75 3.1.832A
o 40385

Question ID : 54062615657
Status : Answered
Chosen Option : 1

Q.113 ATY T3l & UhR 1 & §7

Ans X 1 orfies ofR Rt g
75 2.@zu 1 iR erEy 2 4
75 3. e ok wrufe g
W 4 Frie ok fds @

Question ID : 54062615675
Status : Answered
Chosen Option : 1

Q.114 579 &} ufeRterehl ol FAT aieest @ SIS 11 @, df S99 gi+ areft 21fh g1 a1 srgurd AT
A1 713 AfAIQ 6 vdes afetes 6t wars w1 @ o 3 o & uard & a9 gu &, Afera s
@ Ugt T a1H, TER & <A1 & ST 81 Uk UfeRteeh d1R o1 SIguey ufeds (cross
section) gETHRIR &1

Ans o 14
X 2.2
X 3.1
X 48

Question ID : 54062615609
Status : Not Answered
Chosen Option : --




Q.115 300 RPM <} 7ifd & == a1eAT Qe Ag-amsfEm arer DC (S+t) SReR, ufe it 55 mWb a1
TR g1 TR T 535 V &t Wik far.am.a. (EMF) Seu ket @1 af aretent &Y Tz=am 650 g, at
Uie <hY T=T FaTsg|

Ans X' 1.8
W26
X 3.4
X 4.2

Question ID : 54062615668
Status : Answered
Chosen Option : 2

Q.116 Offe e d, 5@ _______
o1 wanfad gidt 81

Ans X 1 g Rafi
X 2. dde R
W 3. éafe

x 4. EMF g9 (EMF generation)

gl g, ot TRaI & ZI/T @it ST & Ugd, Afche sieh? & Ukl | WY

Question ID : 54062615732
Status : Answered
Chosen Option: 3

Q.117 300/6000 sree, THTTe-thal SEBAT &1 Fia To [@.a19. (EMF) 6 dtec ¥, wrafdes 3t gidas st
(turns) Fr TEaT Tt T

A X1 Nj = 40 3 N, = 4000
X 2 Ny = 60 3R N, = 6000
v 3 Ny = 50 3Rt N, = 1000
X 4 Ng = 40 3R Ny = 5000

Question ID : 54062615712
Status : Answered
Chosen Option: 3

QUisamHA gfgF amy, ______ I

Ans  off 1 soEgieTseE & wfkiy & anft @ o
X 2. Py enq i & wfeRty & oot ) ot &
25 3. urgeit & uferte & eeft € St &

75 4. gagieged & wiokty § i € o &

Question ID : 54062615604
Status : Answered
Chosen Option : 1




Q.119 fa= & & fope Soft & die=t & aa-vorreht gt &, St vmarR ufermor et &, iR ufsrmor hY
nifer Iusfire 21f<h (power) & TaTUTE gelt 82 39 WehIR, sngurferes wTg & forg ufkeraon Y
el HEGT R IuA T feRaT STer g1

Ans X' 1t diedE fex
X 2. smgfRmrd (shiedd Hex)
W 3. St (zff iez)
p

Question ID : 54062615679
Status : Answered
Chosen Option : 3

Q.120 ufRurfa= (transformer) # gefur 31z aryg afor grfvai forasit gidt &2
Ans X 1. foefraes alcdt a GrgaTd

X 2. vnufiies dtedst & THEOTR

X 3 udw2V

Vv 4

Question ID : 54062615652
Status : Answered
Chosen Option : 4

Q121 _____ ek uryH &, forads 1= 319 fis @1 ganet @iig & gehel ot snTehfdd ohear 81
Ans < 1. fagd e

X 2. Red v

(3.?@%

75 4. fagd ware

Question ID : 54062615659
Status : Answered
Chosen Option : 3

Q122________ hl GG & GHERIUT ATl et @ gleps Ufd ehTE Wefgd gt aret Ueiard & gIRT egad

ferar s 81
Ans X 1. i e (flux intensity)
X 2. & g (field strength)
J 3. I g9 (flux density)
X 4. @ fierr (field intensity)

Question ID : 54062615626
Status : Answered
Chosen Option: 3




Q.123 for= & & -1 Iuchvvr, faega uftay & aiedst, s, smgf~y ofiz thet Grrer Si<ht wrfdt & wroer
# sramaT= fRATAEY 1 uar amar @, S for arar=a iR wice fRAfT & - eremT gia 87

Ans X 1. et (Rectifier)
X 2. amw
W 3R

X 4. Rt R

Question ID : 54062615720
Status : Answered
Chosen Option : 3

Q.124 ufeRterehar : areiehe = 3iiH-Hex 2
Ans X' 1. mho-meter

( 2. siemens / meter

75 3. 9|/ Hex

75 4 gadRa

Question ID : 54062615608
Status : Answered
Chosen Option : 2

Q.125 @t2-ufs Jedt Y Ah gerar, IraTg w0 4 fara- g 2
Ans  off 1 90?95 ufiem

/< 2,709 73 ufzE
X 3.10 @ 20 wfaea
/5 4.359 40 yfiz|

Question ID : 54062615619
Status : Answered
Chosen Option : 1

Q.126 @t3-uf¥s I« & forg, ufey I« A1fAe giedst (nominal voltage) _____ giar gl
Ans X114V

22V
X 3.24v
412y

Question ID : 54062615615
Status : Answered
Chosen Option : 2




Q.127 =i /s it |1 St TdTadt AT Hr/6H
Ans fman?{i%

X 2.t

X 3. gmmEfy

X 4 arwy

Question ID : 54062615628
Status : Answered
Chosen Option : 1

Q.128 St &1 WY 34 faaisi= (disconnection) gl der it srafdarty __ hgl SITaT 1
Ans X' 1. gt vrETer Srafd

X 2. anfe ergm

X 3. sfkergn

o 4. di-onf argm

Question ID : 54062615724
Status : Answered
Chosen Option : 2

Q.129 fersft fare=or yorret & sitargs wre=l & H@esf F,
@ ST R ST aret =reres vt &

Ans X 1. R awh g
25 2. dfan
X 3. vegsifa
W 4

&l Sz, AW Tt gaffdes garar=a wa

Question ID : 54062615717
Status : Answered
Chosen Option : 4

Q.130 Qe ghaeft Y 200 V, 50 Hz 3mgfe @ Siter mar g ek ag 10 A i arwr it 81 fraeft & 1000 W
&t g1f i<t 81 Sacht i ufeamem sTa &3

Ans X' 1.10.25 ohm

o 2.20 ohm

/X 3.20.25 ohm

X 4.10 ohm

Question ID : 54062615672
Status : Answered
Chosen Option : 2




Q.131 =1 d & fore wepz & d=t ot ahrd, AT ST+ areft un=TaTges Geeft d Sima= 34 (iron vane) &
3Teptfor WR fAR hear 82

Ans X' 1. PMMC T
W 2. sfiremra @
X 3. e g

25 4 PMM T

Question ID : 54062615677
Status : Answered
Chosen Option : 2

Q.132 U 4-Uld, 3-thet g8 AR 39 omyfd @ wanfera g, forah sigfr 50 Hz &1 forramazar &
AR ur=1 Y Srgf hi AU HRI

Ans X140 Hz
X 2.60 Hz
W 3.50Hz
X 4.30Hz

Question ID : 54062615706
Status : Answered
Chosen Option : 3

Q.133 Jefai P 3fiz Q HieR e # It & o I efif=Teil uR 10 Q @1 s 571 &1 P o1 L an.a

(EMF) 12 V § 3fik 3e1 arfafves ufa@dw 2 Q §; Q @1 fa.ar.a. (EMF) 8 V ¢ 3k SueT sriafes
afedier 1 Q 81 faal® & foraw 1 SuatT @ed gg, Je@ P & varfad g1 areft urr &1 A1 sra
HifSrgi

Ans X' 1.075A
K 2.875A
X 3.0875A
o 21625

Question ID : 54062615612
Status : Not Answered
Chosen Option : --

Q.134 a@ia & dTeteh ol Wiy Agifaes Tad _____ R YT E ST
Ans X' 1.2345C

W 2.-2345C
/X 3.100C
X a.0cC

Question ID : 54062615605
Status : Answered
Chosen Option : 2




Q.135 fararor yorret & fmfor & ey A, wagea yfaa vorreft i gomn 7 sitaxgs vonst
gt 21

Ans X1 2 T HE
25 2.2 T aEh
X 3.5@10 T g
W 45310 T awh

Question ID : 54062615745
Status : Answered
Chosen Option : 4

Q.136 Qe =A€Y T AR 317 Qek i T AR THIR F7 9 F2 g4 &1 371 Haif o fafre ufedier 49 : 24 &
SIUTa A g1 UgHT AR, TR AR Y 98T 80 Hferre 31feh N1=T hT a8+ shell g 31X, Uget a1X &Y
STOEIT R AR Y darg 47 ufera oifdes &1 37 3441 a1=i & SIgue e & &athel & sigurd 6
ot <RifSrql

Ans  of 1 2051
X 2.1:25
X 3.24:49
75 4.49:24

Question ID : 54062615600
Status : Not Answered
Chosen Option : --

Q.137 Gek 150 kW ohT Hgfera 3-thel ®IR shras 1S 1100 V, 50 Hz & 13 aiwdst & 91 100 A &t
3T (leading) eI=T otaT @1 "fl Gt uferamem ATd w31

Ans X' 1.51950hm

W 2.6350hm
x 3.50hm

X 4.3.195 ohm

Question ID : 54062615639
Status : Not Answered
Chosen Option : --

Q.138 Yuehed 3R defadached <l UfRgeTd (phenomena) ATeaH (medium) &
fafare qorent o= faiR et &1

Ans J 1. URTRIAT (permeability)
725 2. widgdis
x 3. gufar (perfectivity)

X 4. =rerRal

Question ID : 54062615622
Status : Answered
Chosen Option : 1




VP Ot sl Bw AT . @ ¥
A X1 4w x 107 henry/metre

X 2 41w x 107 henry-metre

v 3 41 x 1077 henry/metre

X 4 41w x 1077 henry-metre

Question ID : 54062615623
Status : Answered
Chosen Option : 1

Q.140 Qeh UATa U1RT i = 414sin(21n x 50 x t), Yeh ¥ fA&w gfdhe @ gl vanfga & 7€ fSad 100
ohm @1 ufertY 311 0.31831 henry @1 URehed (inductance) g1 AfeRIerk d aiwest & arceiforen
AT g <doreh fAuffa &

Ans X" 1.v=41.400 sin(314m)
o 2.v = 41400 sin(100m)
25 3.v=41400 sin(314m)

X 4.v=41.400 sin(100mt)

Question ID : 54062615744
Status : Not Answered
Chosen Option : --

Q.141 wAfHT & ard g1 & faw & gaR, afE asf-i &= fi fian i fAfés =t & ok 7eamn
(second finger) =31 Y fE2m &t fAfése weet @, at sivger &Y fyam fAfése amvar 21

Ans  of 1 afy
x 2. 1<k (power)
X 3.e)
/X 4.aw

Question ID : 54062615627
Status : Answered
Chosen Option : 1

Q.142 <ifeh 1T 1 Hell |71 R el &, ST Teh nyfies whigem aret yofer R, Yt sifafs
uferarait g1 garar gers Sirdt g, it far St sitae wrafar 1 Iuh el &

Ans X 1. RRemsfeiT (deionising)
X 2. gferiTsfeiT (pulionising)
X 3. Remasfe (reionising)
o 4. oeREiT (pulverising)

Question ID : 54062615736
Status : Answered
Chosen Option : 4




Ans %1 Ng = N (1-8)

v2N=N (1-95)
X3N=Ng(1+85)
X4N=Ng(1x8)

Question ID : 54062615704
Status : Answered
Chosen Option : 2

Q.144 150 V rms T 50 Hz SeaTed atedst Geh 10 ohm arat uferte e s &9 @ uer farar mar|

areerfores o & forg sdTes fAuffya &3
Ans X' 1.i=7.07 sin(100rt)
X 2.i=21.213 sin(314m)
o 3.i=21.213 sin(100m)

X 4.i=7.07 sin(314m)

Question ID : 54062615656
Status : Answered
Chosen Option : 1

Q.145 A1k SAFAGET & AT, S} AleR 1 TR eich

Ans (d) Iap Z)
v (2mA)

(NP Z)
X2 (2mA)

(NP Z)
X (60 A)

(¢ LLPNZ)
s (2mA)

Question ID : 54062615671
Status : Answered
Chosen Option : 1




Q.146 fgawifFa F Araat &, ________ # guh affY w @id g1 & oftz a1y AferaTd s @ glaw
aryg k1 WaTg g1 & g, St 2ftaer S22 Y o et &1

Ans X1 g
W 2 smRR R
X 3.2

25 4 i g

Question ID : 54062615662
Status : Answered
Chosen Option : 2

Q.147 o Feehr 3 A9 & X F 2000 T4 (tum) § AT SWET HIET FE F AT 0.8 mm? | 9T TS
Arem F@ET$ 80 om ¥ Ay A Fr wfedumar 0.02 u-m ¥ FEE F sy w Fifse

Ans X' 1.250

W 2200

X 3.200
X 440
Question ID : 54062615597
Status : Not Answered
Chosen Option : --
Q.148 ufRunfa= (transformer) & uael A gdieror (direct loading test)®, ____ AdHAF
forg, ufkonfa= (transformer) &t fAuffa vl & forg sadh fauffia arfvar & forg wits ferar
SiTar gl

Ans o 1 T
X 2. v T
25 3. aRorfRe sifer & afET
X 4. gicdsT GyrRofigar (voltage sustainability)

Question ID : 54062615654
Status : Answered
Chosen Option : 1

Ans X 1. 1%, 4dTR Reew
o 2. 33, 4t Rew
7 3. 3T, 2R Rzew
X 4.2, 4-drR Rieew

Question ID : 54062615742
Status : Answered
Chosen Option : 2




Q.150 3oRgH TR & o | @ forer wepR & #ter o Iugie forar stram 82
Ans  off 1 gfaeia R

X 2. sigeueioe Hiex

X 3. Redamiw

X 4 Refg iR

Question ID : 54062615691
Status : Answered
Chosen Option : 1

Section : General Hindi and General Knowledge and Reasoning

Q.1 el USHT - HETaR ot SFAa oref &:
Ans X 1. mfi o g e

X 2. @

25 3. 3nrer foet s

o 4 3 fe

Question ID : 54062615756
Status : Answered
Chosen Option : 4

Q.2 =41 yafgar e g UG &
Ans X1 7g-UE

X 2.5y-w18

W 3. TERe - R

X 4.z - sfa

Question ID : 54062615751
Status : Answered
Chosen Option : 2

Q.3 wHwpd @ fagpa gl fEdt 7 oy 2reg rgara &
Ans X 1. 331 1ee

75 2. et e
75 3. degm =

W 4 agau=

Question ID : 54062615748
Status : Answered
Chosen Option: 3




Q.4 fr=faf@a d & o ar yafaard s aqg g5 &
Ans (1.ansm,n3,ﬁgr<

X 2. &, drgw, gen

X 3. e, 3, igel

75 4. s, Terd, aFa

Question ID : 54062615752
Status : Answered
Chosen Option: 3

Q.5 fommsr & weror wene gt - oref & forg Sfe geraw gt
Ans XK 1. a1t ST

X 2. =T @ ATeR R AT

X 3 RFTTTEH

V 4 Fd F e

Question ID : 54062615757
Status : Answered
Chosen Option : 2

Q.6 =T @ @ foraT| arRT w1 G FuE:
Ans X" 1. g e 3 @ o

o 2. 3 @ e
25 3. fora dimr 3 @
X 4. T o e A

Question ID : 54062615760
Status : Answered
Chosen Option : 2

Q.7 frafafEad 4 9w g &:
Ans  of 1 fr

X 2. aTw

5 3 REd
X 4.

Question ID : 54062615747
Status : Answered
Chosen Option : 1




Q.8 ‘I @ yafaardt &:
Ans X' 1. sRfde

v 2

X 3.y

X 4.5igs

Question ID : 54062615750
Status : Answered
Chosen Option : 2

Q.9 forht a=g it formdarst &1 =1 gt - areian & forg SfRa Aeifn &:
Ans X" 1. 31mm & 3 aferd & e

X 2. 3ieft & e Tt

(3.anﬁmu:rlﬂésm

X 4. Qe b & et

Question ID : 54062615759
Status : Answered
Chosen Option: 3

Q.10 fa=farfEa & @ i ar 2ree dga 711 87
Ans x 1. 5

X5 2.

W 355

X 4. am

Question ID : 54062615749
Status : Answered
Chosen Option: 3

Q.11 =TT = ST+ 31T 2T - wtentfh a1 oref ghm:
Ans X" 1. o fmTrg 2T
75 2. Y @ e
XB.GTTrFré@'rgﬁ¢wm={um
“4.W:TGI'I’—T:TT3ﬁ?E|—S'ﬁWHT

Question ID : 54062615758
Status : Answered
Chosen Option : 4




Q.12 fa=i= 2real o1 = &1 g7 §@l 82
Ans X' 1. g - amTE

2. o - AR

X 3. Rqa -

X 4R

Question ID : 54062615755
Status : Answered
Chosen Option : 2

Q.13 ‘gufY’ &1 faein 2re Farsy:
Ans  of 1 =

R

X 3R

X 4. Ree

Question ID : 54062615753
Status : Answered
Chosen Option : 1

Q.14 =R 2AE T dTH FTUE:

Ans  of 1 TqiRen
X 2. Qam

75 3. <o
X 4. =RaTg

Question ID : 54062615746
Status : Answered
Chosen Option : 1

Q.15 farera A1 gag ga= sl 81 arer A fore were &Y sigpfg 82
Ans X" 1 e e SR

o 2. e s o

75 3w Gaeh iyl

75 4. veshn T orpfy

Question ID : 54062615762
Status : Answered
Chosen Option : 4




Q.16 T T faeile ez @:
Ans X1 faw

X 2. erga

X 3. R

W 4 f

Question ID : 54062615754
Status : Answered
Chosen Option : 2

Q.17 =3 3 fR=A= @mait| arerT &1 E FU8:
Ans X" 1 g ol e et

X 2. 9= & et et
X 3. 99 a2 & farg el enait
o 4 7= & Ry Raci i

Question ID : 54062615761
Status : Answered
Chosen Option : 4

Q.18 fy=fofEa & @ i siffard wu @ deadffa gt @t aftfes forea & fanfSra @war &2
Ans o 1 & drr

X 2. gt @

25 3. gsh e

p R

Question ID : 54062615773
Status : Answered
Chosen Option : 1

Q.19 fr=faf@a d @ o= iy a1t gwar & @rs @ Hafda & 82
Ans X' 1 arcdte g

X 2. SR weft

W 3.0 et sier

X 4. =red Ag

Question ID : 54062615778
Status : Not Answered
Chosen Option : --




Q.20 f=faf@a d @ ot ar g & asa g 8?
Ans X 1. fger o demiAe

X 2.4

(S.qﬁ%r{

p R

Question ID : 54062615768
Status : Answered
Chosen Option : 1

Q.21 arfe fa=fta faaror & fafera arm anfae gta &)1 fA=fefEa 3 @ @ ar s9d anfae =8 @2
Ans X" 1. refifes @@

X 2. sef@mar fAfy
25 3. g Ay
W 4 oy o

Question ID : 54062615772
Status : Not Answered
Chosen Option : --

Q.22 uget daadta atern & fora w = dHfea frar mar ar?

Ans X' 1. e Prerorgere Hise & SR W Fsht é & R @A
X 2. HRRE srfre W snaiRa grdwife-Rreft wnfierd Riefa s
25 3. SR Aisd & SR W JdTh & & R wRAr
o 4. 3SR e & onuR W vt 8 & R @R

Question ID : 54062615764
Status : Not Answered
Chosen Option : --

Q.23 =araTay & argR forddt faane &1 staanfyes gwmen= fopa ra @ S Sirar @2
Ans X1 Re

X 2. TR & (gait Hig)
25 3. ardet
(4.mmw(arrﬁism)

Question ID : 54062615775
Status : Answered
Chosen Option : 4




Q.24 fa=faf@ad @ fora wgufa & safeaw &) wiza & Nerw feaw & wa & g=mar sar @2
Ans  off 1. wdfuech g

X 2.2 S g

X 3. Ite v

X 4. SR, stz e

Question ID : 54062615769
Status : Answered
Chosen Option : 1

Q.25 fafafEa d @ fora wrgufa A Ftewa ot & TR i fRar ar?
Ans o 1 & AREIUE

X 2. QS sreget e

25 3. ufden e

X 4. yore gt

Question ID : 54062615770
Status : Answered
Chosen Option : 1

Q.26 FegahT g | AreiaT fasyfaensa Y wro/ggR fad g forar war an?
Ans &1 3z Al

X 2. sferart

W 3. o

X 4. R

Question ID : 54062615776
Status : Not Answered
Chosen Option : --

Q.27 fa=fof@ad @ o= a1 faeeu 351 ot a1g A & one adial (fapfa) § & ger =i 82
Ans X1 dguy

Question ID : 54062615777
Status : Not Answered
Chosen Option : --




Q.28 fa=ferifEa d @ fora= st smat &t == forar 82
Ans 1. ot s

o 2. iy s
25 3. g (@)
X 4. g s

Question ID : 54062615774
Status : Answered
Chosen Option : 2

Q.29 1992 & 733 Gfaen= Heite ifAfa & ATy @ =18 1S =gl & Jeu d fFafaf@ad @
I T FUT T 8?

Ans X 1. derdl o TR h SehTS & w0 A s e Y <1t T &
X 2. Tl @ o3 el el # orererdt & et R A
3.3 T
25 4. duTad & AT sy R & g (Rreraet & Rafa fog) @ w@d @it

Question ID : 54062615765
Status : Not Answered
Chosen Option : --

Q.30 famfaf@a & @ = o Saenfae g =i 82
Ans X1 gt ga. (9 e dar SmET (UPSC))
X 2. R & wgrRITaTaY
o 3. s
75 4. 9= s

Question ID : 54062615766
Status : Not Answered
Chosen Option : --

Q.31 fa=faf@a s @ fora Haiteq & grwr Aureht et &Y snfderfYes swursit it g=ft & anfae forar
™r?

Ans X' 1. 68ai Gty
25 2. 72ai gt
X 3. 69ai deitem
o 4. 713t Gsites

Question ID : 54062615767
Status : Not Answered
Chosen Option : --




Q.32 1998 # ASUTH ZIRT AHIR Tl AT et h a1 fAr=iferi@d 7 & 9 gop &= geawisft ug w
@?

Ans X 1. 3dz weurd
W 2. e uw
X 3. g afgram
75 4 e v Rig

Question ID : 54062615771
Status : Not Answered
Chosen Option : --

Q.33 fafafEa & @ fora S &t wira & ufengfa stemr &t fafafaa & o fwrR ura 82
Ans X1 areré

75 2. aR e,

X 3. ey e,

W 4 & (seB)

Question ID : 54062615763
Status : Not Answered
Chosen Option : --

Q.34 g dr Rfga & st = sigen 9 |@&9fda & 81
2,7, 14,23, 33, 47, 62
Ans  of 1 33
X 2.7
X 3.62
X 4.47

Question ID : 54062615792
Status : Answered
Chosen Option : 1




Q.35 39 fare o1 T+ RIfSQ it foeT sepfer st A X & T R s

O X

X
[\
Vi

X
N
,

v+|ER

Question ID : 54062615782
Status : Answered
Chosen Option : 4

Q.36 Ue Rt Y ik Heha et g rTie A e, “ R F wifge, AR arcltst &Y arht 81" Ry aneft wifge
T 3MT+iE & T fRear &2

Ans X1 @
X 2. TR/mR/HAE o we
W 3.7
X 4R

Question ID : 54062615786
Status : Answered
Chosen Option : 1

Q.37 af& ‘LEARNING’ 2Teg & Ugat, e, e} 3R 58 31&1< ol dharet Qeh AR SUANT &l g hael Geh
grefeh Tg FATYT ST JehdT @1, a1 39 2AE T AT HeR fA=faf@a & @ o= ar gim? afs 3
Teh O 34k A% SFTY ST Hehel g1, al SR &U A Y T4, 3R afe oar &l ereg 7 s=mar s
Hehel g1, @ Z T

Ans  of 1 v
X 2.R
X 3A
p W

Question ID : 54062615785
Status : Not Answered
Chosen Option : --




Q.38 39 farea o1 T+ RIfG foreenT AR 2reg @ o) Ty 8, St gER U8 &1 ug 2res 9 81
o : Bter e ?
Ans  of 1 frm
X 2. SO
X 3.7
X 4w

Question ID : 54062615779
Status : Answered
Chosen Option : 1

Q.39 39 faerea o1 T+ RIfSrg it € 71 siae | uearaes fRig (?) & TuT w sy
2,4,14,28,112,?
Ans 1,182
/X 2.162
X 3.244
W 4224

Question ID : 54062615790
Status : Not Answered
Chosen Option : --

Q.40 39 farea o1 T RIfFSG St € 71 siRae | wearaes fRig (?) & T w sy
1ABDA, 16DGKE, 64HMSI, 169MTBO, 361SBLU, ?
Ans X' 1.676ZKUE
25 2. 576XKWA
W 3.676zKkWA

/X 4.552ZABG

Question ID : 54062615793
Status : Not Answered
Chosen Option : --

Q.41 ufg sreR-uyg fag my &, o @ =R & A g AT uehR Y w16 g ofik Uk s &1 39
STHTI ST&1R-HHE T T 3|

AUKZ, UPuB, 00MY, EXeN, AaQS
Ans X 1.AaQs
75 2.00MY
W 3 AUz
75 4.UPuB

Question ID : 54062615784
Status : Not Answered
Chosen Option : --




Q.42 & 7 IEA W= q ud o SH a1E Ry uH 1 R E

1. A, B, C, D, E, F Ueh uf¥aR & og 9= g1

2. aRarR § g et & ifNuTaeh ok I a=2 &1
3.B, E o1 fOar & 3R F, C &1 g121 81
4.D,E & §; C SRE Wi &1

&} 1€ GI & YR W, uRaR | gy 95 i §?
Ans X 1. 3T T faaT ST Sehelt
X 2. %ae C 3R E
/X 3.%ae B 3RF

o 4B FCE

Question ID : 54062615787
Status : Not Answered
Chosen Option : --

Q.43 39 farea o1 T+ RIfSIG e Hed dear @ agh d@au 8, st ot @ @1 ugs! =1 9 8l
121:12:25:?
Ans  of 16
K22
X 3.7
F

Question ID : 54062615780
Status : Answered
Chosen Option : 1

Q.44 ‘A+B TS fF ‘A BR agad;'A-B w1 aA 2 ‘A BT faar @’; ‘AxB &1 arf & fop
‘A,BHIAig; ‘A+ B el g for'A Bahr g @', 3R ‘A =B’ ot orf g far ‘A, B it u=it &1’

gfe MxN+S &, dt M &1 S @ aar fRear &7
Ans  of 1 M sEHTE
K 2.M, S T @1
X 3. M, S &t areht/amd/d/gen &1
K 4.M, S e &1

Question ID : 54062615789
Status : Not Answered
Chosen Option : --




Q.45 39 faeeu o1 T+ RifSg orad darsi & A afY dew g, st e aq=ag 6 de@msi & 7w
gl

(49,25,9)
Ans o 1 (36,16, )
X 2.(39,26,13)
X 3.(36,25,16)
X 4.(64,27,8)

Question ID : 54062615781
Status : Answered
Chosen Option : 1

Q.46 Uk ufar & @i sg9e=@ P, Q,R, S, T 3R U T W1y arat e @ &1 Q, R&AT g7 g, fhg R, Q
&Y 7 71 &1 P SRR faaifgagmer &1 T, R &1 g 81 S, P f gft 81 U, Q a1 g 81 T i ueht
HFE?

Ans X1~Q
Xoop

o 3.5 T R o R

X au

Question ID : 54062615788
Status : Answered
Chosen Option : 3

Q.47 9R U< feg g &, o @ 9 & aea e A verR Y guraan 8, ofik Uk eRiva 81 39
T 2AE T T h1 |

Segfe, fogen, gfgwn, arowargt
Ans x1§@q;n
X 2. smife
X 3.fag
W 4 eTRaT

Question ID : 54062615783
Status : Answered
Chosen Option : 4

Q.48 ag e Fafea w3 ot Pt sjaen @ defia =g 21
30, 68, 130, 221, 350
Ans X 1.30
X 2.68
W 3.221
X 4.350

Question ID : 54062615791
Status : Not Answered
Chosen Option : --




Q.49 afE g eht AT gl ST1aT &, A ) Gt hgt Sirar @, diet bl Tthe hgl STTdT @, Tthe &l e
hgl SITdT g, 3R St Rl ATl ShgT SITdT @, A SITeRTRT T | AT gidr 82

Ans  of 1 den
75 2. srmrh
X 3. e
F R

Question ID : 54062615794
Status : Answered
Chosen Option : 1

Q.50 uak fAfSa e wirat & afg 'molnuksud' @1 31of 'dogs are barking' &, ‘nuk jo sud’ @T arf
‘dogs are fast’ g 3fiR ‘nuk tom ko’ &T 31 ‘donkeys are mad'’ §, df 39 ge WIUTH
'barking' & forg fara srte a1 Iut farar mar &2

Ans X 1o
W 2. mol
x 3.sud
X 4.nuk

Question ID : 54062615795
Status : Not Answered
Chosen Option : --
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